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CHEMISTRY

JEE (MAIN AND ADVANCED) CHEMISTRY

D - BLOCK ELEMENTS

1. What are coinage metals? Are they transition

elements?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_it7zDU0NWaId

2. Which element has pseudo inert gas

electronic configuration ?

O Watch Video Solution

3. Elements with the general electronic
configuration (n — 1)d*ns® belong to which

group in the modern periodic table ?

o Watch Video Solution



https://dl.doubtnut.com/l/_it7zDU0NWaId
https://dl.doubtnut.com/l/_arSC47det3TK
https://dl.doubtnut.com/l/_XCQLLbCasZHt
https://dl.doubtnut.com/l/_PVFG30gpvzMV

4. Among Cu, Ag, Zn and Cd which one is the

biggest atom? why?

o Watch Video Solution

5. Why the decrease in atomic radius amongst a
series of transition elements is less when

compared with representative elements ?

o Watch Video Solution



https://dl.doubtnut.com/l/_PVFG30gpvzMV
https://dl.doubtnut.com/l/_jDuxTILLgMY0

6. Among 3d —,4d — and 5d —  series
elements, which elements has the least and

which has the highest [;?

O Watch Video Solution

7. Name a transition element which does not

exhibit variable oxidation states.

o Watch Video Solution



https://dl.doubtnut.com/l/_6mNxc9LrpLmo
https://dl.doubtnut.com/l/_nsonGqO3G26N

8. Among ferrous and ferric ions, which one is

more stable? Why?

O Watch Video Solution

9. Arrange the MnO, , C’T2O$_ and Votions in

the increasing order of their oxidising power.

o Watch Video Solution

10. F'eCll5 is known but not Fel3 Why?

|


https://dl.doubtnut.com/l/_Fl5v7hZIQhRn
https://dl.doubtnut.com/l/_wsiZ80VWZUda
https://dl.doubtnut.com/l/_e24CAHBI2WCD

[ W Watch Video Solution ]

1. Why is Cr*" reducing and Mn>" oxidizing
even though both have the same d* electronic

configuration.

° Watch Video Solution

12. Which is a stronger reducing agent

Cr** or Fe** and why?

o Watch Video Solution



https://dl.doubtnut.com/l/_e24CAHBI2WCD
https://dl.doubtnut.com/l/_JdbRJkbyP8Nk
https://dl.doubtnut.com/l/_kXuQTOiTSBOd

13. Why is the E° value for the Mn** / Mn**
couple much more position than that for

Cr3t /Or*" or Fe’t /Fe*" ? Explain.

O Watch Video Solution

14. What is the value of one Bohr magneton in

S.I. units?

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZJI8chTBTh0
https://dl.doubtnut.com/l/_VsnBY6dw6Rxu

15. Calculated spin only magnetic moment of

Cr®™" is 49 BM. Find the 'x' value.

O Watch Video Solution

16. C'aCl is colourless, while CuS0O,.5H50 is

coloured. Explain?

° Watch Video Solution



https://dl.doubtnut.com/l/_DFuwvBG7xVdY
https://dl.doubtnut.com/l/_KmvIQP5NPoky

17. Eventhough Cu®" has one unpaired d -
electron, anhydrous copper sulphate s

colourless. Why?

O Watch Video Solution

18. Au(l) is diamagnetic, while Au(lll) has a
magnetic moment of 2.95 BM. Predict the colour

of aurous and auric ions?

o Watch Video Solution



https://dl.doubtnut.com/l/_XjBhXwyM3Km5
https://dl.doubtnut.com/l/_eANzLSCMGd1C
https://dl.doubtnut.com/l/_7VPTsw9qMLbz

19. Give some examples of the ions which are

coloured but diamagnetic in nature.

o Watch Video Solution

20. Why transition metals act as good catalysts

?

o Watch Video Solution

21. Copper is prepared as alloying element in

ornamental gold. Why?



https://dl.doubtnut.com/l/_7VPTsw9qMLbz
https://dl.doubtnut.com/l/_O8HJm7BrD0s3
https://dl.doubtnut.com/l/_YkQXczJltM3R

° Watch Video Solution

22. Potassium dicharomate solution is used to

test drunker driver? Discuss.

0 Watch Video Solution

23. Vanadium pentoxide is coloured. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_YkQXczJltM3R
https://dl.doubtnut.com/l/_lcVKjNw2m1hO
https://dl.doubtnut.com/l/_9wpNa2tv1kNR

24. What is chemical volcano ?

o Watch Video Solution

25. How many moles of KMnQO, are required to
oxidise one mole of ferrous oxalate in acidic

medium ?

° Watch Video Solution



https://dl.doubtnut.com/l/_iLnPZNgh3Q61
https://dl.doubtnut.com/l/_948gOcCa8DK0

26. Variability in the oxidation states of

lanthanides is limited. Why?

O Watch Video Solution

27. In lanthanide series, which element is well

known to exhibit +4 oridation state ? Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_IW0e6GI4bXCP
https://dl.doubtnut.com/l/_1fJaHeYtt7LM

28. Why In*" ions are reductants and In** are

oxidants ?

O Watch Video Solution

29. Why actinides are not affected by nitric acid

?

° Watch Video Solution



https://dl.doubtnut.com/l/_7muRZ2NwpIpV
https://dl.doubtnut.com/l/_nTrzHkj2GmD6

30. Actinides are called transuranic elements.

Explain.

O Watch Video Solution

31. Name a member of the lanthanoid senes

which is well known to exhibit +4 oxidation

state.

o Watch Video Solution



https://dl.doubtnut.com/l/_VvOMdyCMmzuD
https://dl.doubtnut.com/l/_EoVYltXtcJrN

32. Complex compounds of transition metals
are familier, but not inner transition elements.

Why?

° Watch Video Solution

33. Actinoid contraction is greater from element

to element than lanthanoid contraction. why?

° Watch Video Solution

Subjective Exercise 1 Short Answer Questions



https://dl.doubtnut.com/l/_aLqWy6yyNF5Q
https://dl.doubtnut.com/l/_F7xtrsLq1zAJ

1. Name some d-block elements which have
anamolous electronic configurations. Give their

outer shell configurations.

O Watch Video Solution

2. Write the configuration of Cut, Cu”(+),

Co”(2+), Mn"(2+),

o Watch Video Solution



https://dl.doubtnut.com/l/_ApP8ewhF4ISR
https://dl.doubtnut.com/l/_dTmQ4EOrAosn

3. Name the minerals of manganese and iron.

Write their composition.

0 Watch Video Solution

4. Write the important minerals of the following
elements of d-block : titanium, cobalt, nickel,

copper, zinc and silver.

° Watch Video Solution

Subjective Exercise 1 Very Short Answer Questions



https://dl.doubtnut.com/l/_UjUfbEBVE7UA
https://dl.doubtnut.com/l/_D7QzgQ8FTTjY

1. Mention the d-block elements which are not

considered as transition metals.

° Watch Video Solution

2. Write the electronic configurations of Cr and

Cu.

° Watch Video Solution



https://dl.doubtnut.com/l/_RDwxtJvq0rYD
https://dl.doubtnut.com/l/_29SgkJzsCSQp

3.How many d - electrons are present in Ag and

Ni atoms ?

O Watch Video Solution

4. Name the most abundant element present in

earth's crust.

° Watch Video Solution

Subjective Exercise 2 Long Answer Questions



https://dl.doubtnut.com/l/_xQsamA0kyBnA
https://dl.doubtnut.com/l/_F8Kw46zqulz5
https://dl.doubtnut.com/l/_6CmwzaBkmryk

1. What is meant by variable oxidation states?

° Watch Video Solution

2. How does manganese show its variable

oxidation states?

o Watch Video Solution

3. The atomic radius along the 3d series
decreases. Explain on the basis of their electron

configuration.


https://dl.doubtnut.com/l/_6CmwzaBkmryk
https://dl.doubtnut.com/l/_cMGyeIc751ui
https://dl.doubtnut.com/l/_QcFQZYOxHVGe

o Watch Video Solution

4.The colour of [T’I;(HQO)6]3+ is due to

° Watch Video Solution

5. How does a catalyst work in a chemical
reaction? Discuss the catalysis with suitable

examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_QcFQZYOxHVGe
https://dl.doubtnut.com/l/_n3nXnS9qkaH3
https://dl.doubtnut.com/l/_0lu0ENnCsjO4
https://dl.doubtnut.com/l/_zc2Xh48K8zsG

6. How do you classify magnetic substances?

Give two examples each.

° Watch Video Solution

Subjective Exercise 2 Short Answer Questions

1. What are alloys? How are they prepared?

° Watch Video Solution



https://dl.doubtnut.com/l/_zc2Xh48K8zsG
https://dl.doubtnut.com/l/_7IknQtMr2ieI

2. What do you understand by non-stoichio

metric compounds?

O Watch Video Solution

3. Discuss the colour of the transition metal

compounds with suitable examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_RKapyI1tEHmI
https://dl.doubtnut.com/l/_7n5wjnaEi3kZ

4. Explain the magnetic properties of first

transition series metal ions.

° Watch Video Solution

5. Wtite the characteristic properties of

transition elements.

° Watch Video Solution



https://dl.doubtnut.com/l/_1Igyfdo8nnIH
https://dl.doubtnut.com/l/_YxMx16NaKi8F

6. Transition elements have high melting points.

Why ?

° Watch Video Solution

7. CuS0O4. 5H50 has pale blue colour while

ZnSQOy, Th,0 is white. Discuss.

° Watch Video Solution



https://dl.doubtnut.com/l/_9EJzzZhTbox0
https://dl.doubtnut.com/l/_ikFbNe4S2w0x

8. Predict which of the following will be
coloured in aqueous solution?
T, V3T, Cu™, ST, Mn?t, Fe™ and Co®™"

. Give reasons for each

° Watch Video Solution

9. The most common oxidation state of first

transition series is 4 2. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_UVlgws7Yjfon
https://dl.doubtnut.com/l/_Ky1vRYsjeY53
https://dl.doubtnut.com/l/_QBYO5r31oRQE

10. Wtite the characteristic properties of

transition elements.

° Watch Video Solution

Subjective Exercise 2 Very Short Answer Questions

1. What is the highest oxidation state exhibited

by a 3d element ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QBYO5r31oRQE
https://dl.doubtnut.com/l/_SXyldO0pabAX

2. The most common oxidation state of first

transition series is + 2. Explain.

O Watch Video Solution

3. Why do transition metals show a number of

oxidation states ? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_TUsDH6IXOJ18
https://dl.doubtnut.com/l/_esYlZXGB6UMp

4. Ferrous salts are more unstable compared to
ferric salts. Explain in terms of their

configurations.

O Watch Video Solution

5. CuS0, is paramagnetic while ZnSO, is
diamagnetic, Explain in terms of the electron

configurations.

o Watch Video Solution



https://dl.doubtnut.com/l/_fDx1yIUvIxtY
https://dl.doubtnut.com/l/_5t2qRyDgvycY
https://dl.doubtnut.com/l/_kYXFpiJq2XzL

6. Give the composition of Nichrome ?

° Watch Video Solution

7. Give the composition and uses of Duralumin.

° Watch Video Solution

8. Write the chracteristics of non-

stoichiometric compounds.

° Watch Video Solution



https://dl.doubtnut.com/l/_kYXFpiJq2XzL
https://dl.doubtnut.com/l/_R4VJ59YIyu4E
https://dl.doubtnut.com/l/_XVO1JyGm64Jp

9. Which metalsform interstititial oxides ?

° Watch Video Solution

10. The formula of Zirconium hydride is not

represented as ZrH, but Zr Hy g5. Why?

° Watch Video Solution

Subjective Exercise 3 Short Answer Questions



https://dl.doubtnut.com/l/_dnxk7YtVwE0V
https://dl.doubtnut.com/l/_sDdZvSCoOY8g

1. How the acidic nature, covalent character
changes with the oxidation state for oxides of a

transition metal.

O Watch Video Solution

2. Describe the preparation of potassium

permanganate.

o Watch Video Solution



https://dl.doubtnut.com/l/_agn5YFLCv7pm
https://dl.doubtnut.com/l/_yRA9pxwcInC1

3. Write the oxidation properties of KMnQy in

acidic and neutral medium.

° Watch Video Solution

4. Write any four oxidising properties of

potassium dichromate.

° Watch Video Solution

Subjective Exercise 3 Very Short Answer Questions



https://dl.doubtnut.com/l/_aMlbb5acpSSm
https://dl.doubtnut.com/l/_lQxdfhXGvyto
https://dl.doubtnut.com/l/_NkOWlNOSJxAY

1. Identify the oxidation states of Mn when
MnOg_ ion undergoes disproportionation

reaction under acidic medium

0 Watch Video Solution

Subjective Exercise 4 Short Answer Questions

1. What are the different oxidation states

exhibited by the lanthanoids ?

° Watch Video Solution



https://dl.doubtnut.com/l/_NkOWlNOSJxAY
https://dl.doubtnut.com/l/_oh74KsuuFF5s
https://dl.doubtnut.com/l/_PTKuQULUiEyI

2. What is lanthanoid contraction ? What are

the consequences of lanthanoid contraction?

° Watch Video Solution

Subjective Exercise 4 Very Short Answer Questions

1. Is Lanthanum a real lanthanide element ?

Why? or Why not?

° Watch Video Solution



https://dl.doubtnut.com/l/_PTKuQULUiEyI
https://dl.doubtnut.com/l/_QlVOncQOOD30
https://dl.doubtnut.com/l/_ZutG791Mk8Nl

2. Why are lanthanides and Actinides are placed

sepatately at the bottom of the peridic table ?

o Watch Video Solution

3. Fill up the blanks with nl formula for

lanthanons : [Pr]...........

° Watch Video Solution

Objective Exercise 1 General Properties And

Electronic Configuration



https://dl.doubtnut.com/l/_ZutG791Mk8Nl
https://dl.doubtnut.com/l/_MZMEKxNb4xf0
https://dl.doubtnut.com/l/_Hjj1zKYyx53n

1. Which of the following is transition element

A.Pb

B.Sn

C.Cr

D.Zn

Answer: C

° View Text Solution

2. Liquid metal among d-block elements is


https://dl.doubtnut.com/l/_Hjj1zKYyx53n
https://dl.doubtnut.com/l/_BpozynCRsORK

A. Hg

B.Zn

C.Nb

D.Cd

Answer: A

o View Text Solution

3. Outer electronic configuration of the element

Palladium is


https://dl.doubtnut.com/l/_BpozynCRsORK
https://dl.doubtnut.com/l/_ZD1nxJPaiF69

A. 4d°5s!

B. 4d”5s>

C.4d"5s!

D. 4d'°55°

Answer: D

o View Text Solution

4. Among the first transition series (3d series)

Chromium has highest melting point. Why?


https://dl.doubtnut.com/l/_ZD1nxJPaiF69
https://dl.doubtnut.com/l/_tNbeEmpROUyZ

AV

B.Zn

C.Cu

D.Cr

Answer: D

o Watch Video Solution

5. Which of the following orbitals are filled

progressively in the transition elements


https://dl.doubtnut.com/l/_tNbeEmpROUyZ
https://dl.doubtnut.com/l/_3VGCbR3CmFNb

B.p

c.d

D. f

Answer: C

o View Text Solution

6. Which set of elements among the following

are called non-transitional elements


https://dl.doubtnut.com/l/_3VGCbR3CmFNb
https://dl.doubtnut.com/l/_RfcP8GB6GKzq

A. Cu, Ag and Au

B. Fe, Co and Ni

C.Zn,Cd and Hg

D.Re, Os and Ir

Answer: C

o View Text Solution

7.1ron catalyst is used in

A. Contact process


https://dl.doubtnut.com/l/_RfcP8GB6GKzq
https://dl.doubtnut.com/l/_zHdbeM91YdC1

B. Ostwald's process

C. Birkland - Eyde process

D. Haber's process

Answer: D

o View Text Solution

8. The changed name of Khurchatovium (Z=104)

is

A. Joliotium


https://dl.doubtnut.com/l/_zHdbeM91YdC1
https://dl.doubtnut.com/l/_aOnGBQ858B3h

B. Dubnum

C. Rutherfordium

D. Hatrium

Answer: C

o View Text Solution

9. The number of electrons in 4d-subshell of 'Pd'

A7


https://dl.doubtnut.com/l/_aOnGBQ858B3h
https://dl.doubtnut.com/l/_5wLx9Wq86pcv

B.8

C.9

D.10

Answer: D

o View Text Solution

10. Electronic configuration of Ferrous ion is

A. 15%25%2p°35%3p%3d%4s°

B. 15225%2p°3523p®3d°%45*


https://dl.doubtnut.com/l/_5wLx9Wq86pcv
https://dl.doubtnut.com/l/_sIoi6T6CGEla

C. 1%2522p%3523p%3d°4s!

D. 15%2522p%2p°3523p°3d°4s"

Answer: A

o View Text Solution

11. Which one of the following pairs of ions have

the same electronic configuration

A.Cr3t and Fed™

B.Fe3" and Mn2t


https://dl.doubtnut.com/l/_sIoi6T6CGEla
https://dl.doubtnut.com/l/_RLwzIQjr8u6Z

C.Fe3™ and Co*T

D.Sct and Cr3™

Answer: B

o Watch Video Solution

12. How many 'd' electrons are present in Cr?™"

ion?

A 4

B.5


https://dl.doubtnut.com/l/_RLwzIQjr8u6Z
https://dl.doubtnut.com/l/_MQb2JzHWq7OC

C.6

D.3

Answer: A

o View Text Solution

13. What kind of electronic transition take place
in the exhibition of colour by transition metal

ions

A.dtos


https://dl.doubtnut.com/l/_MQb2JzHWq7OC
https://dl.doubtnut.com/l/_teufVW5YuWEf

B.stop

C.dtod

D.ftos

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_teufVW5YuWEf

Configuration Element
1) 5s'4d® A) Cu
. 2) 65540 B)
3) 4s13dl~ C) Mo
4) 582%4d1° D)

The correct match is

Al-C,2—-A3-FE4—B
B.1-C,2—E3—-B,4— A
C1-C,2—E,3—A,4—-B

D1-E2-C,3-A4-B

Answer: C

| e


https://dl.doubtnut.com/l/_3tpehqP88Lea

l & View Text Solution I

15. Number of d'electrons present in M shell of

Ag + ion?

A.10

B. 20

C.18

D. 16

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_3tpehqP88Lea
https://dl.doubtnut.com/l/_MwD5YE9ClG5S

16. Which one of the element may be expected

to show highest second ionization enthalpy

AV

B. Cr

C.Mn

D. Fe

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_MwD5YE9ClG5S
https://dl.doubtnut.com/l/_SPMxeL4nPppl

Objective Exercise 1 Oxidation States

1. Among the following outer electronic
configurations of atoms, the highest oxidation
state is exhibited by

A. (n — 1)d®ns?

B.(n — 1)d°ns?

C.(n — 1)d’ns

D. (n — 1)d’ns’

Answer: B

| e |


https://dl.doubtnut.com/l/_3PCb7vhZFWpC

l & View Text Solution I

2. The common oxidation state exhibited by

transition elements is

A +11

B. +1IV

C.+VI

D.+VII

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_3PCb7vhZFWpC
https://dl.doubtnut.com/l/_YzjhZ01pF4sv

3. Which of the following transition elements

exhibit + & oxidation state

A. Cu and Zn

B. Ru and Os

C.W and Pb

D. Ag and Au

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YzjhZ01pF4sv
https://dl.doubtnut.com/l/_SZS15GVZagO2
https://dl.doubtnut.com/l/_QeYQr6gU22Zn

4. Manganese exhibits oxidation states from

A+1II to +VII

B.+1 to +VI

C.+I to +V

D.+III to +V

Answer: A

° Watch Video Solution

5. The most stable oxidation state of Iron is


https://dl.doubtnut.com/l/_QeYQr6gU22Zn
https://dl.doubtnut.com/l/_zgyFlwUJ6ME4

A +11

B. +111

C.+1I

D.+VI

Answer: B

o Watch Video Solution

6. The maximum oxidation state in 3d series

elements is shown by


https://dl.doubtnut.com/l/_zgyFlwUJ6ME4
https://dl.doubtnut.com/l/_6ypaNsA5tQfK

A. Cu

B.V

C.Mn

D. Fe

Answer: C

o View Text Solution

7. The transition element that has stable

configuration in 4+ 1 oxidation state is


https://dl.doubtnut.com/l/_6ypaNsA5tQfK
https://dl.doubtnut.com/l/_gB7pSgOLcTDn

A. Cu

B.Zn

C.Sc

D. Mn

Answer: A

o Watch Video Solution

8. Divalent Manganese is more stable due to

A. 3d* configuration


https://dl.doubtnut.com/l/_gB7pSgOLcTDn
https://dl.doubtnut.com/l/_eN1EnbT3J0vx

B. 3d? configuration
C. 3d® configuration

D. 3d® configuration

Answer: C

o Watch Video Solution

9. The oxidation state of "Ni" in Ni(CO), is

A +11

B. zero


https://dl.doubtnut.com/l/_eN1EnbT3J0vx
https://dl.doubtnut.com/l/_I63uRGgb6iRW

C.+1II

D.+VIII

Answer: B

o Watch Video Solution

10. The element which has half-filled d-orbitals

inits * + 1’ oxidation state is

A. Mn

B. Cr


https://dl.doubtnut.com/l/_I63uRGgb6iRW
https://dl.doubtnut.com/l/_xrRn7AjnZsLi

C.Zn

D. Fe

Answer: B

° Watch Video Solution

Objective Exercise 1 Colours

1. Coloured complexes absorb radiation in the

A. visible region


https://dl.doubtnut.com/l/_xrRn7AjnZsLi
https://dl.doubtnut.com/l/_0Lpez1VhXHhA

B. infrared region

C.UV.region

D. far IR region

Answer: A

o Watch Video Solution

2. Coloured ion among the following is

A Zn?t

B. Mn’™t


https://dl.doubtnut.com/l/_0Lpez1VhXHhA
https://dl.doubtnut.com/l/_jQQwvXpupDJT

C.Cu'™

D. T34+

Answer: B

o Watch Video Solution

3. In aqueous solution which of the following

colour is exhibited by Nici,

A. pink

B. green


https://dl.doubtnut.com/l/_jQQwvXpupDJT
https://dl.doubtnut.com/l/_XoLIeeW6E2DF

C. blue

D. yellow

Answer: B

o Watch Video Solution

4. The ion which exhibits orange red colour in

aqueous solution is

A. Cry07~

B.MnOZ_


https://dl.doubtnut.com/l/_XoLIeeW6E2DF
https://dl.doubtnut.com/l/_CRibqDOExsYO

C. MnO,

D.Cr3t

Answer: A

o Watch Video Solution

5. The following ion is colourless in aqueous

solution ?

A T2+

B.Cu’"


https://dl.doubtnut.com/l/_CRibqDOExsYO
https://dl.doubtnut.com/l/_dDPXzZRrWI8c

C. N+

D. Zn?*

Answer: D

o Watch Video Solution

6. Which of the following pairs of ions are

colourless?

ATi" 3, Cu™?

B.Sc™3, Zn T2


https://dl.doubtnut.com/l/_dDPXzZRrWI8c
https://dl.doubtnut.com/l/_HQduSjwW4TvY

C.Co™% Fe™3

D.Ni"2 vV T3

Answer: B

o Watch Video Solution

7. The following ion exhibits colour in aqueous

solution ?

A St

B.Cu™


https://dl.doubtnut.com/l/_HQduSjwW4TvY
https://dl.doubtnut.com/l/_loIjRAkjGgEU

C. N+

D. Zn?t

Answer: C

o Watch Video Solution

8. The atomic number of an element 'M' is 26.
How many electrons are present in the M-shell

of the element in its M3 state ?

A5


https://dl.doubtnut.com/l/_loIjRAkjGgEU
https://dl.doubtnut.com/l/_N4Nk8NuU9IKp

B.14

C.12

D.13

Answer: D

o Watch Video Solution

9. Paramagnetism is the property of

A. completely filled electronic subshells

B. unpaired electrons


https://dl.doubtnut.com/l/_N4Nk8NuU9IKp
https://dl.doubtnut.com/l/_WJke4u7x8D11

C. non-tranistion elements

D. vacant orbitals

Answer: B

° Watch Video Solution

Objective Exercise 1 Magnetic Properties

1. The formula to calculate paramagnetic

moment of a substance is

A pg = \/45(5 +2)B. M


https://dl.doubtnut.com/l/_WJke4u7x8D11
https://dl.doubtnut.com/l/_m52dlZLvLtPv

B.us = y/n(n+2)B. M

C.ug = +/n(n+4)B. M.

D. g = \/L(L L 9)B. M

Answer: B

o Watch Video Solution

2. The units of magnetic moment are

A. Newton - ohm

B. Torrs


https://dl.doubtnut.com/l/_m52dlZLvLtPv
https://dl.doubtnut.com/l/_iRS5truktwCT

C. Bohr magneton

D. Pascals

Answer: C

o Watch Video Solution

3. Which of the following would be attracted

towards magnetic field

A.Zn

B. Mn


https://dl.doubtnut.com/l/_iRS5truktwCT
https://dl.doubtnut.com/l/_mYK85W1adCdK

C. Mg

D.Cd

Answer: B

o Watch Video Solution

4. Magnetic moment of diamagnetic substance

in Bohr magnetons is

A.1.73

B.2.83


https://dl.doubtnut.com/l/_mYK85W1adCdK
https://dl.doubtnut.com/l/_nDDtwFcMuQVT

C.5.0

D.O

Answer: D

o Watch Video Solution

5. Which of the following set of elements are

Ferromagnetic in nature

A.Zn,Cd and Hg

B.Cu, Ag and Au


https://dl.doubtnut.com/l/_nDDtwFcMuQVT
https://dl.doubtnut.com/l/_QZhyyBaHm0WF

C.Fe,Co and Ni

D.Sc, Ti and U

Answer: C

o View Text Solution

6. Substances which are repelled by the external

magnetic field are called

A. diamagnetic

B. paramagnetic


https://dl.doubtnut.com/l/_QZhyyBaHm0WF
https://dl.doubtnut.com/l/_CEEE4tUBnkO5

C. ferromagnetic

D. antiferromagnetic

Answer: A

o Watch Video Solution

7.The following is paramagnetic

A. CG,CZQ


https://dl.doubtnut.com/l/_CEEE4tUBnkO5
https://dl.doubtnut.com/l/_X6bONm1guup4

D. NaCl

Answer: B

O Watch Video Solution

8. The following ion exhibits highest magnetic

moment ?

A Cu’™

B.Ti3 ™

C. N2+


https://dl.doubtnut.com/l/_X6bONm1guup4
https://dl.doubtnut.com/l/_eFUmNfOWESa0

D. Mn?+

Answer: D

O View Text Solution

9. The calculated magnetic moment of Cu?*

ion

A.1.73 B.M.
B. zero

C.2.6 B.M.


https://dl.doubtnut.com/l/_eFUmNfOWESa0
https://dl.doubtnut.com/l/_Fnb8GnofJis8

D.5 and 5.92 B.M.

Answer: A

O Watch Video Solution

10. The number of d-electrons present in 'X' and

its magnetic moment are

A Tit 28V +2

B. Fe t2&Cd 2

C.Crt2&Fe™t?


https://dl.doubtnut.com/l/_Fnb8GnofJis8
https://dl.doubtnut.com/l/_Zh3P95Rn8tuW

D.Cot2&Ti T2

Answer: B

° Watch Video Solution

11. Which of the following pair of transition

metal ions, have the same calculate values of

magnetic moment ?

A Co*t

B.Cu’™


https://dl.doubtnut.com/l/_Zh3P95Rn8tuW
https://dl.doubtnut.com/l/_JInFABsODfNn

C. Mn2™t

D. Sc3t

Answer: C

o Watch Video Solution

12. Which one of the following is diamagnetic?

A. Mn T2

B. Fe™?2

C.Tit?


https://dl.doubtnut.com/l/_JInFABsODfNn
https://dl.doubtnut.com/l/_LsRTCE8prX3W

D.Cr*3

Answer: D

° View Text Solution

13. Which of the following ions exhibits

maximum magnetic moment

A.1.73 BM

B.2.84 BM

C.49BM


https://dl.doubtnut.com/l/_LsRTCE8prX3W
https://dl.doubtnut.com/l/_Ru7R3FoMiXgw

D.O

Answer: A

O Watch Video Solution

14. The spin only magnetic moment of Ni*>" in
aquous solution would be

A. V8

B. V2

C.V6


https://dl.doubtnut.com/l/_Ru7R3FoMiXgw
https://dl.doubtnut.com/l/_9D9Orz83OOZm

D. V15

Answer: B

° Watch Video Solution

Objective Exercise 1 Alloys

1. Brass is an alloy of

A.Cu + Sn

B.Cu + Zn


https://dl.doubtnut.com/l/_9D9Orz83OOZm
https://dl.doubtnut.com/l/_myfthXAxNVHg

C.Sn and Zn

D.Cu, Zn and Sn

Answer: A

o Watch Video Solution

2.Bronze is an alloy of

A.Cu + Sn

B.Cu + Zn

C.Pb+ Sn + Zn


https://dl.doubtnut.com/l/_myfthXAxNVHg
https://dl.doubtnut.com/l/_Nj3X9gGhjmy1

D. Pb+ Zn

Answer: A

O Watch Video Solution

3. The metal not present in german silver is

A Ag

B. Cu

C. Ni

D. Zn


https://dl.doubtnut.com/l/_Nj3X9gGhjmy1
https://dl.doubtnut.com/l/_y4nJzNHSB5dk

Answer: A

° Watch Video Solution

4. The transition element with highest density
among the following is

A.Sc

B. Fe

C.Zn

D. Cu


https://dl.doubtnut.com/l/_y4nJzNHSB5dk
https://dl.doubtnut.com/l/_VgWgxM9M1cDO

Answer: D

O Watch Video Solution

5. Percentage of carbon in the steels is nearly

A.3%

B.2 %

C.0.2%

D.10 %

Answer: B

f


https://dl.doubtnut.com/l/_VgWgxM9M1cDO
https://dl.doubtnut.com/l/_kQFlFzNwAXxc

° Watch Video Solution

Objective Exercise 1 Interstitial Compounds

1. Which of the following is an interstitial

compound

A NH,

B. PdCl,

C.T:H

D. ZnO


https://dl.doubtnut.com/l/_kQFlFzNwAXxc
https://dl.doubtnut.com/l/_1mWlmZUtyKdW

Answer: C

° Watch Video Solution

2. The non-metal that wusually occupies
tetrahedral voids in the formation of

interstetial compounds

A. Hydrogen

B. Boron

C. Carbon

D. Sulphur


https://dl.doubtnut.com/l/_1mWlmZUtyKdW
https://dl.doubtnut.com/l/_vS8ln20ZuROy

Answer: A

° Watch Video Solution

3. The type of bond expected to be formed

atoms between of two elements in interstitial

compounds is

A. Covalent

B. lonic

C. Metallic

D. None


https://dl.doubtnut.com/l/_vS8ln20ZuROy
https://dl.doubtnut.com/l/_PsT4ImypQBZY

Answer: D

o Watch Video Solution

4. Which of the following is not the property of
interstitial compound
A. They have high M.P, higher than those of
pure metals
B.They are very hard, some borides
approach diamond in hardness.

C. They retain metallic conductivity


https://dl.doubtnut.com/l/_PsT4ImypQBZY
https://dl.doubtnut.com/l/_M7yfVnDCVQGt

D. Their chemical reactivity is very high

Answer: D

° Watch Video Solution

Objective Exercise 1 Permanganate Dichromate

1. Strongest oxidant among the following is

AVO,

B. C’I”207_2


https://dl.doubtnut.com/l/_M7yfVnDCVQGt
https://dl.doubtnut.com/l/_JYQfXBFqLJIw

C. MnO,

D. MnO,

Answer: C

o Watch Video Solution

2. Highest tendency for M 72 — M ™2 is in

A. Mn
B.Cr

C.Fe


https://dl.doubtnut.com/l/_JYQfXBFqLJIw
https://dl.doubtnut.com/l/_nTf2dHvKX51q

D. All have same

Answer: A

° Watch Video Solution

3. Match the following

SET - 1 SET - II
A) Mny0O; 1) Covalent green oil

B) C’r03 2) Basic
C) V. 3) amphoteric
D) CTO 4) anhydride of cromic acid
5) acidic
A B C D

A.
1 4 3 2


https://dl.doubtnut.com/l/_nTf2dHvKX51q
https://dl.doubtnut.com/l/_XtHQzVIxSJ6C

BABC’D
2 4 3 1
CABCD
4 5 1 3
DABCD
3 2 4 1
Answer: A

o Watch Video Solution

4. When MnQO, is fused with KOH in air, it

gives

A. KM'T'LO4


https://dl.doubtnut.com/l/_XtHQzVIxSJ6C
https://dl.doubtnut.com/l/_QtP8gThLRz0B

B. F60204
C. F62(0204)3

D. F62(504)3

Answer: C

o Watch Video Solution

5. Which of the following cannot be oxidised by

the acidified solution of KMnQO,

A. FeSO,


https://dl.doubtnut.com/l/_QtP8gThLRz0B
https://dl.doubtnut.com/l/_6af52CmeWGqO

B. F60204
C. F62(0204)3

D. F62(504)3

Answer: D

o Watch Video Solution

6. An acidified solution of KMnQO, oxidises

A. Sulphates

B. Oxalates


https://dl.doubtnut.com/l/_6af52CmeWGqO
https://dl.doubtnut.com/l/_EBE6qZGhWhFw

C.lodine

D. Ferric ion

Answer: B

o Watch Video Solution

7.To an acid solution of an anion, a few drops of
KMnQO, solution are added. Which of the
following, if present will not decolourise the

KMnQO, solution

A CO:~


https://dl.doubtnut.com/l/_EBE6qZGhWhFw
https://dl.doubtnut.com/l/_kU0WXPND7A4C

B. NO,
C. SO5~

D.Cl™

Answer: A

o Watch Video Solution

8. KMnOQy acts as an oxidising agent in

A. Acidic medium only

B. Neutral and acidic medium


https://dl.doubtnut.com/l/_kU0WXPND7A4C
https://dl.doubtnut.com/l/_cm84UJ8cN3dg

C. Neutral and alkaline medium

D. Neutral, acidic and fairly basic medium

Answer: D

o View Text Solution

9. When KMnQ, reacts with acidified FeSO,

A.Both FeSO, and KMnQ, are oxidised

B.Both F'eSO, and KMnQ, are reduced


https://dl.doubtnut.com/l/_cm84UJ8cN3dg
https://dl.doubtnut.com/l/_ajweiIcCx3A4

C. FeSO, is oxidised and KMnQ, is

reduced

D. FeSO, is reduced and KMnQO, is

oxidised

Answer: C

o View Text Solution

10. Permeanganate ion is not isostructural with

A. managanate ion


https://dl.doubtnut.com/l/_ajweiIcCx3A4
https://dl.doubtnut.com/l/_5mkdJJVymlDu

B. Cromate ion

C. Chlorate ion

D. Perchlorate ion

Answer: C

o View Text Solution

11. When mangnese dioxide is fused with KOH in

air, it gives

A. Potassium permangante


https://dl.doubtnut.com/l/_5mkdJJVymlDu
https://dl.doubtnut.com/l/_RCIwdxiYFaKn

B. Potassium manganate

C. manganese hydroxide

D. managanese sesquioxide

Answer: B

o View Text Solution

12. The number of moles of KMnQO, that will
be needed to react completely with one mole of

ferrious oxalate in acidic solution is


https://dl.doubtnut.com/l/_RCIwdxiYFaKn
https://dl.doubtnut.com/l/_9RnWhhXSATeY

>

&
ok oo o w

o

Answer: A

o Watch Video Solution

13. The product of oxidation of I~ with MnO,

in alkaline medium is


https://dl.doubtnut.com/l/_9RnWhhXSATeY
https://dl.doubtnut.com/l/_ZvIZrhb8CzHG

A TO;
B. I,
c.10~

D.10,

Answer: A

o View Text Solution

14. Number of Cr — O sigma bonds in

dichromate ion Crin s


https://dl.doubtnut.com/l/_ZvIZrhb8CzHG
https://dl.doubtnut.com/l/_4MaY7eF0ABqJ

A.6

B.7

C.8

D.4

Answer: C

° View Text Solution

15. Which of the following oxides give chromic

acid in sulphuric acid solutions


https://dl.doubtnut.com/l/_4MaY7eF0ABqJ
https://dl.doubtnut.com/l/_hBBvO9zZxXqH

A.CrO

B. C’I"203

C. C’PO3

D. CT‘OQ

Answer: C

o Watch Video Solution

16. Number of moles of K,Cry0; reduced by

one mole of Sn°* ions is


https://dl.doubtnut.com/l/_hBBvO9zZxXqH
https://dl.doubtnut.com/l/_f58XTfbD4tAl

A1/3
B.3
C.1/6

D.6

Answer: A

o Watch Video Solution

17. Which of the following statements is/are
true

A) Nasry, O7 is more soluble in water than


https://dl.doubtnut.com/l/_f58XTfbD4tAl
https://dl.doubtnut.com/l/_Ja7AvLFhHur9

K,CR,0~

B) K5Cry07 is used as a primary standard in
volumetric analysis

C) Both NayCry0O; and KyCry0; are strong
oxidizing agents

D) The chromates and dichromates are

interconvertible in aqueous solutions

A.Aand B

B.B and C

C.Aand D

D. All the above


https://dl.doubtnut.com/l/_Ja7AvLFhHur9

Answer: D

° Watch Video Solution

18. The shape of chromate ion is

A. tetrahedral

B. square planar

C. two tetrahydra linked at one of their apex

D. octahedral

Answer: A



https://dl.doubtnut.com/l/_Ja7AvLFhHur9
https://dl.doubtnut.com/l/_z4eZSCIzc95l

° Watch Video Solution

19. When NasCrQy, is dissolved in sulphuric

acid, it changes to

A.orange coloured NasCry0Oy

B. yellow coloured NasCry0y

C. retains as orange coloured Na,CrQO,

D. retains as yellow coloured NasCrQO,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_z4eZSCIzc95l
https://dl.doubtnut.com/l/_CoRC94BDIceA

20. Oxidation number of chromium in chromyl

chloride is

A +2

B.+3

C.+4

D.+6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CoRC94BDIceA
https://dl.doubtnut.com/l/_3ymmfZ4AdZxq

21. For the reaction C’I‘OZ_ + 7 = C'7“2O7_2
the missing ion is

A.OH "~

B.H™

C.OH™"

D.0%~

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_61zcITVqxznR

Objective Exercise 1 Lanthanides And Actinides

1. Which element among the lanthanides has

the smallest atomic radius

A. Cerium

B. Lutetium

C. Europium

D. Gadolinium

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gVRGdlw33LAr

2. The electronic configuration of gadolinium
(At No.=64) is

A. [Xe]4f25d76s>

B. [Xe]4f"5d' 65

C.[Xe]4f?5d°6s”

D. [Xe]4f%5d?6s

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_gVRGdlw33LAr
https://dl.doubtnut.com/l/_MQj07fDxcoxA
https://dl.doubtnut.com/l/_eYBBhU50h41v

3. Across the lanthanide series, the

strength of the lanthanide hydroxides

A. Increases

B. Decreases

C. First increases and then decreases

D. First decreases and then increases

Answer: B

basic

o Watch Video Solution



https://dl.doubtnut.com/l/_eYBBhU50h41v

4. Most common oxidation states shown by

cerium are

A+2 +4

B.+3, +4

C.+3, +5

D.+2, +3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8Dsx3kpFEQti

5. Which of the following statements is not
correct ?
A. La(OH), is less basic than Lu(OH),
B. In lanthanide series, ionic radius of In3+
lons decreases
C.La is actually an element of transition
series rather than lanthanide series
D. Atomic radii of Zr and Hf are same

because of lanthanide contraction


https://dl.doubtnut.com/l/_z2FtaHNDGdbj

Answer: A

° Watch Video Solution

6. Arrange Ce>", La®*", Pm*" and Yb* " in
increasing order of their ionic radii
AYVT < Pm*t < Ce*t < La*™"
B.Ce®" < Yb'' < Pm*" < La*"
CYVT < Pm’t < La*" < Ce*™

D.La’T < Ce*T < Yt < Pm3™


https://dl.doubtnut.com/l/_z2FtaHNDGdbj
https://dl.doubtnut.com/l/_BzcOZr0DrRju

Answer: A

o View Text Solution

7. The basic character of the transition metal

monoxides follows the order

AVO > CrO > TiO > FeO

B.CrO > VO > FeO > T30

C.T:0 > FeO > Vo > CrO

D. 770 > VO > CrO > FeO


https://dl.doubtnut.com/l/_BzcOZr0DrRju
https://dl.doubtnut.com/l/_pOvuu6UTiV1S

Answer: D

o Watch Video Solution

8. Which of the following is a lanthanide ?

A.Ta

B. Rh

C.Th

D. Lu

Answer: D

f


https://dl.doubtnut.com/l/_pOvuu6UTiV1S
https://dl.doubtnut.com/l/_kJ3imvHBzKSz

o Watch Video Solution

9. Which of the two have almost similar size

A. 22T’i and 40Z’l°

B. 41 Nb and ,3T'a

C. 39Y and 57La

D. 2000, and 31.[’]"

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_kJ3imvHBzKSz
https://dl.doubtnut.com/l/_YHrbeVowfmf7

10. In aqueous solutions Fu®" acts as

A. an oxidising agent
B. a reducing agent
C. neither oxidant nor reductant

D. can act as redox agent

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_d6PJirQnLBSv

1. The radius of La®"(Z = 57) is 1.06A°.
Which one of the following given values will be
closest to the radius of Lu® ™"

A.1.60A°

B.1.40A°

C.1.06A4°

D.0.85A4°

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_fGUUrrx2ZAMB

12. The actinide element which can exhibit +7

oxidation state in its compounds

A. Thorium

B. Curium

C. Neptunium

D. Nobelium

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0mAQIssGo63H

13. Highest oxidation state exhibited by an

actinide element in its compounds is

A +4

B.+6

C.+7

D. +38

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HbM6StoN3Nyz

14. Actinide that is naturally available with

highest isotopic number

A U

B. Pu

C.Cu

D.Fm

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hC55RjJ2bryF

15. Manganese dioxide is used in

A. Pigment industry

B. dry battery cells

C. making coins

D. Photography

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rgTleu6lcQMI

16. Zeiglar catalysis utilises a mixture of

trialkylaluminium and a chloride of the element

A. Sc

B.Ti

C.V

D.Cr

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Wgv2i6ehx3Gr

17. Silver UK coins are made up with an alloy

A. Cu, Fe

B. Ni, Cd

C.Cu, Ni

D. Au, Ag

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_G33SZTP58IMd

18. Photography is based on special light

sensitive properties of

A T710
8. V,0;
C. [Ag(5203)2]3_

D. AgBr

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7r4rS5M5Es5Y

19. Oxidation of an alkyne to the corresponding

carbonyl compound is catalysed by

A. PdClI,

B.T:Cly

C. MnO

D.T:0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_VkATpJvI0HYq

Objective Exercise 1 Assertion And Reason Type

1.(A): Fe "3 is more stable than that of Fe "2,
(R): Fe "3 ion has half filled 3d orbital whereas
Fe ™2 does not.
A.Both A & R are true, R is the correct
explanation of A
B.Both A & R are true, R is not correct
explanation of A

C.Ais true,R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_4Oolow9ztO71

Answer: A

o Watch Video Solution

2. (A: Sc™ ion in aqueous solutions is
colorless
(R) : lons with do configuration are colorless
A.Both A & R are true, R is the correct
explanation of A

B.Both A & R are true, R is not correct

explanation of A


https://dl.doubtnut.com/l/_4Oolow9ztO71
https://dl.doubtnut.com/l/_gsu0MWkKPK1R

C.Ais true,R is false

D. Ais false, R is true

Answer: A

° Watch Video Solution

3.(A): Cu™ is diamagnetic

(R): lons with dl configuration are diamagnetic

A.Both A & R are true, R is the correct

explanation of A


https://dl.doubtnut.com/l/_gsu0MWkKPK1R
https://dl.doubtnut.com/l/_qbND7efiap0G

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: A

o View Text Solution

4. (A): Transition elements form alloys easily
(R) : Transition elements have high melting

points


https://dl.doubtnut.com/l/_qbND7efiap0G
https://dl.doubtnut.com/l/_3N2UuSIZl8v6

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3N2UuSIZl8v6

5. (A): Transition elements form alloys very

easily.

(R): They exhibit variable oxidation states.

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B


https://dl.doubtnut.com/l/_geJktHIucgmW

o Watch Video Solution

6. (A): Elements of second and third transition

series have nearly same atomic radii

(R): Lanthanide contraction is observed in the

elements from atomic number 58 to 71.

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A


https://dl.doubtnut.com/l/_geJktHIucgmW
https://dl.doubtnut.com/l/_2qtVrknRzvmI

C.Ais true,R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

7. (A) : Transition metals form colored ions
(R): They have completely filled d-orbitals in the

nth shell.


https://dl.doubtnut.com/l/_2qtVrknRzvmI
https://dl.doubtnut.com/l/_sBNocwgTNLGg

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sBNocwgTNLGg

8. (A): Magnetic moment of Mn"?%is 58 B.M
(R): Mn "2 has five unpaired electrons
A.Both A & R are true, R is the correct
explanation of A
B.Both A & R are true, R is not correct
explanation of A
C.Ais true, R is false

D. Ais false, R is true

Answer: A



https://dl.doubtnut.com/l/_pOtE3DlfFEDa

| ' Vvatcdn video >oiution ]

9.(A) : Cut%(aq) is more stable than Cu ™ (aq)
(R): Heat of hydration of Cu*t? is more than
1P, of Cu
A.Both A & R are true, R is the correct
explanation of A
B.Both A & R are true, R is not correct
explanation of A
C.Ais true,R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_pOtE3DlfFEDa
https://dl.doubtnut.com/l/_afLA6rn0CQZF

Answer: A

o Watch Video Solution

10. (A): Zn(ll) compounds are diamagnetic.

(R): Zn(Il) has all its electrons paired.

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false


https://dl.doubtnut.com/l/_afLA6rn0CQZF
https://dl.doubtnut.com/l/_OGmgkrVxef96

D. Ais false, R is true

Answer: A

° Watch Video Solution

11. (A): FeO is basic in character.

(R): Oxides of transition metals are basic when

metal is in lower oxidation state.

A.Both A & R are true, R is the correct

explanation of A


https://dl.doubtnut.com/l/_OGmgkrVxef96
https://dl.doubtnut.com/l/_l01uLkrHmK2D

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

12. (A): Pyrolusite is an ore of manganese.

(R) : Formula of pyrolusite is MnsOy.



https://dl.doubtnut.com/l/_l01uLkrHmK2D
https://dl.doubtnut.com/l/_TTIFf65PbaNB

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TTIFf65PbaNB

13. (A): Equivalent mass of KyCry07;, when it

acts as oxidizing agent in acidic medium, is M/3

(R) : During reduction, oxidation number of

chromium changes from +6 to +3

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true, R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_Zi9TC9HBNV8R

Answer: D

o Watch Video Solution

14. (A): T'i(IV) in aqueous solutions is colour
less.
(R): Ti(IV') has no electrons in d-subshell.
A.Both A & R are true, R is the correct
explanation of A

B.Both A & R are true, R is not correct

explanation of A


https://dl.doubtnut.com/l/_Zi9TC9HBNV8R
https://dl.doubtnut.com/l/_xCxiFiUmNP3r

C.Ais true,R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

15. (A): In alkaline medium, KMnQ, oxidizes
iodides to iodates.

(R): KMnQO, behaves as stronger oxidizing
agent in alkaline medium than in acidic

medium.


https://dl.doubtnut.com/l/_xCxiFiUmNP3r
https://dl.doubtnut.com/l/_1J9QrMtiRgLi

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1J9QrMtiRgLi

16. (A): Zr and Hf have nearly equal atomic radii.

(R): Zr and Hf belong to the same group.

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B

& . l


https://dl.doubtnut.com/l/_oEYeAHga923y

| ¥ Vvvatcn Video oolution ]

17. (A) : The most common oxidation state of
lanthanides is + 3.
(R): Lanthanides have three electrons in their

outermost shell.

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false


https://dl.doubtnut.com/l/_oEYeAHga923y
https://dl.doubtnut.com/l/_xcd5mUnMERbn

D. Ais false, R is true

Answer: C

° View Text Solution

18.(A): Ce* T is a good oxidizing agent.

(R): Sm*™ is a good reducing agent.

A.Both A & R are true, R is the correct

explanation of A


https://dl.doubtnut.com/l/_xcd5mUnMERbn
https://dl.doubtnut.com/l/_J9irIGxrYE7H

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: B

o Watch Video Solution

19. (A): Zinc does not show characteristic

properties of transition metals


https://dl.doubtnut.com/l/_J9irIGxrYE7H
https://dl.doubtnut.com/l/_C4hOQSr4eMAA

(R): The outer most shell of zinc is completely

filled

A.Both A & R are true, R is the correct

explanation of A

B.Both A & R are true, R is not correct

explanation of A

C.Ais true,R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_C4hOQSr4eMAA

20. (A): K5CrO, has yellow colour due to
charge transfer
(R) : C’rOi_ ion is tetrahedral in shape.
A.Both A & R are true, R is the correct
explanation of A
B.Both A & R are true, R is not correct
explanation of A
C.Ais true, R is false

D. Ais false, R is true


https://dl.doubtnut.com/l/_C4hOQSr4eMAA
https://dl.doubtnut.com/l/_u8DnVbPWnFlw

Answer: B

O Watch Video Solution

Objective Exercise 2 General Properties And

Electronic Configuration

1. The following represents the electronic

configuration of a transition element

A. bs’np®

B.ns’np’nd®(n + 1)s?


https://dl.doubtnut.com/l/_u8DnVbPWnFlw
https://dl.doubtnut.com/l/_pfkaHs7M1iPF

C.ns’np’nd'®(n — 1)s*(n + 1)p*

D. nsznp5

Answer: B

° Watch Video Solution

2. Which of the following statements

concerning transition elements is not true?

A. They are all metals

B. They easily form complexes


https://dl.doubtnut.com/l/_pfkaHs7M1iPF
https://dl.doubtnut.com/l/_VMROEVcn1svq

C. Compounds containing their ions are

coloured
D.They show multiple oxidation states

always differing by two units.

Answer: D

o Watch Video Solution

3. The highly stable pair of ions are

A Fe’T and Fe?™


https://dl.doubtnut.com/l/_VMROEVcn1svq
https://dl.doubtnut.com/l/_lfBjsUiM45np

B. Fe?T and Mn?t

C.Fe?t and Mn?™

D. Fe?™ and Fe*™

Answer: C

o Watch Video Solution

4. Transition metal " X " has a configuration
[A7]3d* in its +3 oxidation state . The atomic

number of the metal is


https://dl.doubtnut.com/l/_lfBjsUiM45np
https://dl.doubtnut.com/l/_A81Jws14H8C2

A. 25

B. 26

C.32

D.19

Answer: A

o Watch Video Solution

5. The number of 'd' electrons in Fe’" is not

equal to that of


https://dl.doubtnut.com/l/_A81Jws14H8C2
https://dl.doubtnut.com/l/_wIztcrT9B6Ct

A. s-electrons in Mg

B. p-electrons in Ne

C. p-electrons in Cl

D. d-electrons in Fe

Answer: C

o Watch Video Solution

6. The pair of ions which do not have same

number of unpaired electrons is


https://dl.doubtnut.com/l/_wIztcrT9B6Ct
https://dl.doubtnut.com/l/_bJPxNP8xoEbF

A Mn?T and Fe3*

B.Ti>"T and Ni?t

C.Cu?t and T3+

D. Fe?™ and Ni?™

Answer: D

° Watch Video Solution

Objective Exercise 2 Oxidation States

1. Gold can exhibit the oxidation states


https://dl.doubtnut.com/l/_bJPxNP8xoEbF
https://dl.doubtnut.com/l/_hP5XQlLN7dXP

Al and + II

B.+II and + III

C.+1I and + III]

D.+1] and + IV

Answer: C

° Watch Video Solution

2. The electronic configuration of a transition
element is [A7]4s°3d°. The possible oxidation

states are


https://dl.doubtnut.com/l/_hP5XQlLN7dXP
https://dl.doubtnut.com/l/_Q3qFojq3h1jj

A.+1, +2 and + 3only

B.+2 and + 3only

C.+2, +3, +4 and + 5only

D.+2 and —+ 5only

Answer: C

o Watch Video Solution

3. The transition element having highest

oxidation state belongs to which group?


https://dl.doubtnut.com/l/_Q3qFojq3h1jj
https://dl.doubtnut.com/l/_iEXpS3eVdR4k

A. VI

B.VIIp

C.Vp

D. IV

Answer: A

° Watch Video Solution

Objective Exercise 2 Colours


https://dl.doubtnut.com/l/_iEXpS3eVdR4k

1. The formation of coloured ions by transition

metals is due to

A. incompletely filled 'd' orbitals

B. completely filled 'd’ orbitals

C. completely filled 's' and 'd" orbitals

D. formation of interstitial compounds

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_v549w0ptiNT5

2. Element furnishing coloured ions in the

aqueous medium is

A Zn

B.Hg

C.Cu

D. Al

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7AwOPjzmCxrO

3. The colour of [T%(H>0);] °" is due to

A.absence of unpaired electrons in 'd’
orbtials

B. charge transfer phenomenon

C. d-d electron transition

D. close packing crystal structure

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FYUQTH9CHxcX
https://dl.doubtnut.com/l/_XkoqFHB318YJ

4. Transition metal which forms green

compounds in its 43 oxidation state and

orange red compounds in its 46 oxidation

state is

A. Cobalt

B. Chromium

C.lron

D. Nickel

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XkoqFHB318YJ

5. Which of the following is a correct
statement?
A.Ag.solutions of Cu™ and Zn®’" are
colourless
B.Aq. solutions of Cu®" and Zn®* are
colour less
C. Aqueous solutions of Fe®*™ is green in
colour
D.Aqueous solutions of MnO, is

colourless Magnetic properties


https://dl.doubtnut.com/l/_WaO04o5XJdM2

Answer: A

O Watch Video Solution

Objective Exercise 2 Magnetic Properties

1. The magnetic moment of Cr3" is similar to

that of

A Fe2t

B. Fed ™

C.Co®™


https://dl.doubtnut.com/l/_WaO04o5XJdM2
https://dl.doubtnut.com/l/_M1THFWlBs1NC

D.Co®t

Answer: D

° Watch Video Solution

2. The atomic number of an element is 26. The

magnetic moment exhibited by its ion in its +2

oxidation state is

A.592 BM

B.2.84 BM


https://dl.doubtnut.com/l/_M1THFWlBs1NC
https://dl.doubtnut.com/l/_KtsKFET2TlpD

C.3.87 BM

D.4.9 BM

Answer: D

o Watch Video Solution

3. The pair of ions which do not have diamag

netic nature

A Cu'™ and Zn?™

B.Sc®t and Ti*t


https://dl.doubtnut.com/l/_KtsKFET2TlpD
https://dl.doubtnut.com/l/_hjbQKhRdSs8c

C.Ca’t and Zn?™

D. V2t and Fe?t

Answer: D

o Watch Video Solution

4. The magnetic moment of an ion is v/24 B.M.

Then that ion may be

A Mn2t

B. Fe?™


https://dl.doubtnut.com/l/_hjbQKhRdSs8c
https://dl.doubtnut.com/l/_OA23xaMW696f

C.Fe3™

D.Cu’™t

Answer: B

o Watch Video Solution

5. M3" ion of the first transition series metal
'M' has a magnetic moment 1.73 BM. The atomic

number of the metal 'M' is

A. 21


https://dl.doubtnut.com/l/_OA23xaMW696f
https://dl.doubtnut.com/l/_Dr21JVTkE155

B. 24

C.29

D. 22

Answer: D

o Watch Video Solution

6. The value of paramagnetic moment of T%3%

ion in Bohr magnetons is

A.59


https://dl.doubtnut.com/l/_Dr21JVTkE155
https://dl.doubtnut.com/l/_m14awxdbfU80

B.1.73

C.2.84

D. 3.87

Answer: B

o Watch Video Solution

7. What is the correct order of spin only

magnetic moment (in BM) of

Mn*™2,Cr¥(+2) and V 722


https://dl.doubtnut.com/l/_m14awxdbfU80
https://dl.doubtnut.com/l/_BO5PpHaWVtxm

AMnt2>V71t2>s Ort?

B.V 2> Crt?2 > Mnt?

CMnt?2>Crt? >V T2

D.Crt2 >V 12> Mn*?

Answer: C

° Watch Video Solution

8. Spin only magnatic moment can be calculated

by using u = 4/n(n + 2) where 'n' represents


https://dl.doubtnut.com/l/_BO5PpHaWVtxm
https://dl.doubtnut.com/l/_OkdXYO0maToy

A. Principal Quantum No.

B. Magnetic Quantum No.

C. Number of unpaired electrons

D. Spin Quantum No.

Answer: C

o Watch Video Solution

9. In which of the following 'd" subshells are

degenerate


https://dl.doubtnut.com/l/_OkdXYO0maToy
https://dl.doubtnut.com/l/_TKWpKA0MgQ50

2+
A. C’u(aq)

2+
B.Fe(aq)

3+
C. Fe(aq)

1+
D. Cu(aq)

Answer: D

° Watch Video Solution

Objective Exercise 2 Alloys


https://dl.doubtnut.com/l/_TKWpKA0MgQ50

1. Transition elements form alloys easily because

they have

A. same number of shells

B. same electronic configuration

C. nearly same atomic size

D. same atomic weight

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NEwTtedyNiCi

2. Alloys are generally prepare to modify the
property
A) malleability
B) toughness
C) resistance to corrosion
A. A and B are correct
B. All are correct

C.B and C are correct

D. A and C are correct

Answer: D



https://dl.doubtnut.com/l/_a4Dqm55LlW7x

\ o Watch Video Solution

3. Which of the following is ferrous alloy?

A. German Silver

B. Gun metal

C. Nichrome

D. Devarda's alloy Permanganate

dichromate

Answer: C

and

I ° Wiak~rh \tAAA CAlLiikian


https://dl.doubtnut.com/l/_a4Dqm55LlW7x
https://dl.doubtnut.com/l/_FWPUQmg2QqcN

Objective Exercise 2 Permanganate And

Dichromate

1. Potassium permanganate acts as an oxidant
in neutral, alkaline as well as acidic media. The
final products obtained from it in the three
conditions are resectively

A. MnOZ_, Mn?t and Mn?™"

B. MnO,, MnO, and Mn?™"

C. MnO,, M’rLO;r and Mn®™"


https://dl.doubtnut.com/l/_FWPUQmg2QqcN
https://dl.doubtnut.com/l/_l0CwvTaSyfEf

D. MnO, MnO, and Mn?*

Answer: B

o Watch Video Solution

2. Number of electrons transferred in each case

when KMnQO, acts as an oxidising agent and
converts into MnOy, Mn?*, Mn(OH), and
MnQ, are respectively

A.3,5 4 and 1

B.4,3,1and 5


https://dl.doubtnut.com/l/_l0CwvTaSyfEf
https://dl.doubtnut.com/l/_Iaa0hcgK5JzB

C.1,3,4and 5

D.5,4,3 and 1

Answer: A

o Watch Video Solution

3. KMnQO, is powerful oxidant where it

converts into

A. MnOZ_

B. Mn02


https://dl.doubtnut.com/l/_Iaa0hcgK5JzB
https://dl.doubtnut.com/l/_JoeLEsa8pfdq

C. Mn2™t

D. Mn3™

Answer: B

o Watch Video Solution

4. Four moles of KMnQO, reacts with excess of

hypo solution to produce - moles of Nay 50,

A. 3 moles

B. 1.5 moles


https://dl.doubtnut.com/l/_JoeLEsa8pfdq
https://dl.doubtnut.com/l/_XXooM9jm349L

C. 6 moles

D. 2.0 moles

Answer: A

o Watch Video Solution

5. An acidified solution of KMnQO, oxidises

A. sulphates

B. sulphites

C. nitrates


https://dl.doubtnut.com/l/_XXooM9jm349L
https://dl.doubtnut.com/l/_ct92zBSLGwaR

D. ferric salts

Answer: B

° Watch Video Solution

6. The equivalent weight of MnS0O, is half of its
molecular weight when it is converted to

A. M’I’L203

B. MnOz

C. MnO,


https://dl.doubtnut.com/l/_ct92zBSLGwaR
https://dl.doubtnut.com/l/_jwaGiIcz2wlP

D. MnOZ_

Answer: B

° Watch Video Solution

7. Which of the following oxides of chromium is

amphoteric in nature

A.CrO

B. C’I”203

C. CTO3


https://dl.doubtnut.com/l/_jwaGiIcz2wlP
https://dl.doubtnut.com/l/_xWFjdXEhVuEy

D. C’I"O5

Answer: B

° Watch Video Solution

8. Incorrect statement regarding the structure

of dichromate is

A. It has two kinds of bond lengths

B.Cr — O — Cr Bond angle is 126°


https://dl.doubtnut.com/l/_xWFjdXEhVuEy
https://dl.doubtnut.com/l/_T9qutrHJSpyz

C.It contains p"™ —d"™ bonds between

Br&O

D. Each 'Cr’ is surrounded by 3 oxygens

Answer: D

o Watch Video Solution

9. Which compound of chromium is widely used

in tanning of leather

A. CTClg


https://dl.doubtnut.com/l/_T9qutrHJSpyz
https://dl.doubtnut.com/l/_qgQZ4VaLfnQl

B. C’l"203
C. C’I”OzClz

D. KQSO4. CT2(504)3.24H2O

Answer: D

° Watch Video Solution

Objective Exercise 2 Lanthanides And Actinides

1. Cerium (Z = 58) is an important member of

lanthanoids. Which of the following statement


https://dl.doubtnut.com/l/_qgQZ4VaLfnQl
https://dl.doubtnut.com/l/_qpr3Ow1tgSpA

about cerium is incorrect 1)

A. The common oxidation states of cerium is

+3 and + 4

B. The + 3 oxidation state of cerium is more

stable than the +4 oxidation state

C.The +4 oxidation state of cerium is not

known in solutions

D. Cerium (iv) acts as an oxidising agent

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qpr3Ow1tgSpA

2. Which of the following is a lanthanide

element?

A. Ac

B. As

C. Nd

D. Pd

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qpr3Ow1tgSpA
https://dl.doubtnut.com/l/_0TsEcuz6FN8o

3. The fact that can be explained based on

lanthanide contraction is

A.Zr and Y have about the same radius

B. Zr and Nb have similar oxidation state

C. Zr and Hf have about same radius

D. Zr and Zn have the same oxidation state.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fhVp0Pji2vk5

4. Electronic configuration of divalent cation of
Eu is

A 4f°

B.4f"

C.5f7

D.5f%

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_hlJXVOgnhrPX

5. Which of the following exhibits pink colour

A Nd3 ™
B.Sm3 ™
C.Dy* ™"

D.Ce*t

Answer: A

° Watch Video Solution

Practice Exercise


https://dl.doubtnut.com/l/_jTm0O67bAFjS

1. Which of the following element has high
density

A.Sc

B.Zn

C.Cu

D. Co

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_L5vkRapYk77X

2. Element with pseudooctet configuration in its

outermost shell

A. Copper

B. Palladium

C. God

D. Platinum

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EyrogBicUCyy

3. The atomic number of element having

pseudo inert gas configuration in it's atomic

state is

A.46

B. 45

C.47

D.48

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BoG0Js95I2sv

4. Which of the following ion has three

unpaired d-electrons

ATt

B.V3T

c.ordt

D. Mn?+

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_udfsCmQiWLdO

5. Number of electrons present in the outer

most shell of Cut ion

A.O

B.1

C.8

D.18

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_cBcWPysKuK5z

6. Highest oxidation state exhibited by a 3d-

metal is

A +2

B.+3

C.+7

D. +8

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_aMm88MnvA2Ti

7. The highest oxidation state is exhibited by
the transition metal with electronic
configuration

A. (n — 1)d°ns’

B.(n — 1)d°ns”

C.(n — 1)d®ns?

D. (n — 1)d®ns?

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_Df9NearZ5tbi

8. Hydrated Cu®" ions absorb light of ..... colour
and transmit light of ...... colour

A.red and blue

B. green and purple

C. purple and red

D. blue and red

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6vBOxTj002IV

9. The colour of [T%(H>0),] ** is due to

A. transfer of electron from one to another
atom of titanium

B. presence of water molecules

C. d-d transition

D. intra molecular vibration

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xNqORU522WdQ
https://dl.doubtnut.com/l/_tLJaqn7klfW1

10. Complementary colour of green light of

wavelength 50004 ° is

A.purple

B. blue

C.red

D. grey

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tLJaqn7klfW1

11. A transitional metal X *2 in its hydrated
state has six 3d electrons. The colour of ion is
expected as

A. Green

B. Pink

C.Blue

D. Yellow

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Tu46Su8deR0x

12. Magnetic moment of which of the following

Is zero

A Zn’t

B.Cu’™

C. N+

D.Cr2t

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QIe0PhMwgIWy

13. The magnetic moment of an ion in its +3

oxidation state is 3.85 BM. The number of

unpaired d-electrons present in it are

A.2

B.3

C.4

D.5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GYow2TGE5CG8

14. Common oxidation states of copper in its

compounds are

A+1, +2

B.+1, +3

C.+2, +3

D.+2, + 4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_W6SvTjINsFLi

15. The ion with highest magnetic moment is

A V3Tt

B.Cr3+

C.Fe3™

D.Co®t

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uWbGLv9uU8MF

16. The highest degree of paramagnetism is

shown by

A. COCl2. HgO

B. M’I’LSO44H20

C. F€Cl24HQO

D. NiCly,.6H,O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UCsdsJsWxsNZ

17. M®" ion has magnetic moment 2.84 BM.
Then 'X'is (Z of M = 23)

A3

B. 2

C.4

D. 1

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_kiSzsxNxa55t

18. Magnetic moment of Mn™? is 58 B.M.
Hence the number of unpaired electrons
presenting the metal ion is

A5

B.4

C.3

D. 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ucUWi6pgN6WO

19. Reagent used to reduce NO,; to NHj

A. Devarda's alloy
B. Permanganate
C. German silver

D. Aluminum bronze

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Kfo8ZXHpxE9r

20. The common metal present in German Silver,

Bell metal and Brass is

A Fe

B.Cu

C.Zn

D. Sn

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ceZlRrr7KPUX

21. The alloy containing highest percentage

composition of copper is

A. German silver

B. Aluminium Bronze

C. Bell metal

D. Brass

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RVZNCGfdi2ai

22. Which of the following is used for stressed

structure castings

A. Invar

B. Nichrome

C. Duralmin

D. Devarda's alloy

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMtsblZX50Ha

23.Zinc metal is not a constituent in the alloy

A. Brass

B. Bronze

C. Gun metal

D. Devarda's alloy

Answer: B

o Watch Video Solution

24. Alloy used for making ball mills


https://dl.doubtnut.com/l/_7dvegUSKvXZI
https://dl.doubtnut.com/l/_AakNuOzzxe8Y

A. - Alloy

B. Manganese steel

C. German silver

D. Bronze

Answer: B

o Watch Video Solution

25. Percentage of silver in the alloy of German

silver


https://dl.doubtnut.com/l/_AakNuOzzxe8Y
https://dl.doubtnut.com/l/_ABy6CBfvYatu

A.15

B.2.5

C.10

D. zero

Answer: D

o Watch Video Solution

26. Bearings are prepared using the alloy

A. Gun metal


https://dl.doubtnut.com/l/_ABy6CBfvYatu
https://dl.doubtnut.com/l/_ZgxaleIWQhtd

B. Aluminium Bronze

C. Bell metal

D. German silver

Answer: A

o Watch Video Solution

27. Zn, Cd, Hg have lowest melting points in
their respective periods. This can be explained

based on


https://dl.doubtnut.com/l/_ZgxaleIWQhtd
https://dl.doubtnut.com/l/_beE1nQU5O02P

A. electrons used for bonding

B. charges present in nucleus

C. defects is crystal structures

D. conducting properties

Answer: A

o Watch Video Solution

28. Transition element which does not show

variable oxidation state is


https://dl.doubtnut.com/l/_beE1nQU5O02P
https://dl.doubtnut.com/l/_g6hPnSuc85bM

A. Sc

B.Zn

C.Cu

D. Fe

Answer: A

o Watch Video Solution

29. More stable compound among the following

is


https://dl.doubtnut.com/l/_g6hPnSuc85bM
https://dl.doubtnut.com/l/_NVCBOmjuYOru

A VF,

B. VF,

C.VF,

D. V F;

Answer: D

o Watch Video Solution

30. The element that forms oxide with highest

oxidation state


https://dl.doubtnut.com/l/_NVCBOmjuYOru
https://dl.doubtnut.com/l/_nX7qrvffvogu

A. Sc

B.V

C.Mn

D. Fe

Answer: C

o Watch Video Solution

31. As the oxidation state of metal in metal

oxide increases its acidic nature


https://dl.doubtnut.com/l/_nX7qrvffvogu
https://dl.doubtnut.com/l/_zr4Ct1In47re

A. increases

B. decreases

C. remains unchange

D. First decreases and then increases

Answer: A

o Watch Video Solution

32. Highest oxidation state exhibited by a

lanthanide element is


https://dl.doubtnut.com/l/_zr4Ct1In47re
https://dl.doubtnut.com/l/_VQBtkSPQWZGw

A +3

B. +4

C.+7

D. +38

Answer: B

o Watch Video Solution

33. Lanthanides are rare earths, but one of
them is not available naturally. The element

under consideration is


https://dl.doubtnut.com/l/_VQBtkSPQWZGw
https://dl.doubtnut.com/l/_fVxfQraxobnS

A. Dy

B. Eu

C. Nd

D. Pm

Answer: D

o Watch Video Solution

34. The element with highest number of

unpaired L electrons is


https://dl.doubtnut.com/l/_fVxfQraxobnS
https://dl.doubtnut.com/l/_X0B6lfmv78Z2

A. Gd

B. Ce

C.Sm

D. Eu

Answer: A

o Watch Video Solution

35. Colour exhibited by divalent Sm in aqueous

solutions


https://dl.doubtnut.com/l/_X0B6lfmv78Z2
https://dl.doubtnut.com/l/_MfJcYjFFXgVM

A. dark blue

B. yellowish brown

C. blood red

D. greenish yellow

Answer: C

o Watch Video Solution

36. Which of the following is paramagnetic ?

A V(CO)g


https://dl.doubtnut.com/l/_MfJcYjFFXgVM
https://dl.doubtnut.com/l/_CIRFCbT06vB5

B. Fe(CO),
C. FGQ(CO)Q

D.Cr(CO),

Answer: A

o Watch Video Solution

37. Compound that is both paramagnetic and

coloured is

A. KQCT‘207


https://dl.doubtnut.com/l/_CIRFCbT06vB5
https://dl.doubtnut.com/l/_zuEKJN5OPIjP

B. (NH,),[TiClg]
C.VOSO,

D. K3 |Cu(CN),]

Answer: C

° Watch Video Solution

38. Acidic oxide is formed by the metal and

oxidation state of the metal in the oxide

A.Mn, + 6


https://dl.doubtnut.com/l/_zuEKJN5OPIjP
https://dl.doubtnut.com/l/_ww7RUZvvrEpz

B. Mn, + 7

C.Cr, +3

D.Cr, + 7

Answer: A

o Watch Video Solution

39. In the preparation of KMnO4, pyrolusite
(MnQO,) is first converted to potassium
magnate (K;MnQOy). In this conversion, the

oxidation state of manganese changes from


https://dl.doubtnut.com/l/_ww7RUZvvrEpz
https://dl.doubtnut.com/l/_72DgN0u8TTIE

A+1 to +3

B.+2 to +4

C.+3 to +5

D.+4 to +6

Answer: D

o Watch Video Solution

40. Which of the following can be employed for
the conversion of potassium manganate to

potassium permanganate?


https://dl.doubtnut.com/l/_72DgN0u8TTIE
https://dl.doubtnut.com/l/_2fDR8jAFUIwa

A) Ozone

B) Chlorine

C) Electrolysis

A AB

B.B,C

C.AC

D.AB,C

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_2fDR8jAFUIwa
https://dl.doubtnut.com/l/_PyzwXCH6YEo0

41. The reaction Mn04_ +e & MnOZ takes
place in

A. a basic medium

B. acidic medium

C. neutral medium

D. both acidic and basic medium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PyzwXCH6YEo0

42. When MnQO, is fused with KOH in the

presence of air, a coloured compound is formed,

the product and its colour is

A. Ko MnQO, and dark geen

B. KMnQ, and purple

C. MnO503 and brown

D. MnQO5 and yellow

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fspHEqK1UgFJ

43. Acidified potassium dichromate is treated

with hydrogen sulphide. In the reaction the

oxidation number of chromium

A. increases from +3 to +6

B. decreases from +6 to +3

C. remains unchanged

D. decreases from +6 to +2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jsGUylV8aY5r

44, The equivalent mass of K;Cry0; when it

acts as oxidising agent in acidic medium, is

equal to

A. M/3

B. M/2

C.M/6

D. M/5

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vmtSjiFN7vnV

45. The aqueous solution containing which one

of the following ion will be colourless ?

A St

B. Fe?™

C.Ti3+

D. Mn?+

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2hSLpb1Qnuax

46. Effective magnetic moment of Sc¢® " ion is

A. 173
B. zero
C.592

D. 2.83

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hDPyv0vXUIHf

47. The  stable  oxiation  state
Cu, Ag and Awu are respectively
ACut, Ag™, Au™
B.Cu®", Ag™, Au*"
C.Cut,Ag™, Au®"

D.Cu?", Ag™, Au*"

Answer: C

of

° Watch Video Solution



https://dl.doubtnut.com/l/_ldVPhxGJ1665

48. Highest oxidation state exhibited by a

lanthanide element is

A +3

B. +4

C.+7

D. +38

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_UFMS9tXHFmtA

49, Larger number of oxidation states are

exhibited by the actinoids than those by the

lanthanoids. This can be best explained as

A. 4f orbitals more diffused than the 5f

orbitals

B. Lesser energy difference between 5f and

6d than between 4f and 5d orbitals

C. More energy difference between 5f and 6d

than between 4f and 5d orbitals


https://dl.doubtnut.com/l/_pLhrVxMTU59Z

D. More reactive nature of the actinoids

than the lanthanoids.

Answer: C

o Watch Video Solution

50. Zn gives H, gas with H3S0O,4 and HCl but

not with HNO3 because

A.Zn acts as an oxidising agent when react

with HNO;


https://dl.doubtnut.com/l/_pLhrVxMTU59Z
https://dl.doubtnut.com/l/_OfZlJOB0tRug

B. HNO; is weaker acid than
H,SO, and HCI

C.In electrochemical series Zn is above
hydrogen

D. NO, ion is reduced in perference to

hydronium ion.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OfZlJOB0tRug

